e

M.‘N 1¢A l(.! Loyl ﬁﬁj - .»W_A:? Zeadl L

w18 Q‘?AAM.M mony _cows will
eaX 77DJg.? AABAS AN 28 ﬁ(M/S7

AM»&

Aé{a’)’d&r\j to m\,g, ?"'VW W,Cm ‘

Grass | Dags | Conrs

L 110

erte the final answer in the form of full statent

Coivp = UO

ent.

Quesls: ow 2. A »}adfu&? romidacliyng

$60 Jam "’“‘7”{”‘”.‘? with, 20 mackine .

Heow vmowv} %WV\A wm(,&( be ’)'V)AMqquMY

wn ?ldaxo«A wiff, /‘8 | madum'/‘

Solution:



22
Highlight

22
Highlight

22
Highlight


G

WA :
______@M = lhe price of g0 clurls
s zLooo.wl«Aj‘J }
cor 4 LC e

Encb 6‘1" SOJ/&/)/&?
Lo(tmloﬂwizo %Yﬁslge/x.z

Accoding To

g0 : 30 ::
- 85 22000 ; x

60 :

8o

e

30



22
Highlight

22
Highlight

22
Highlight

22
Highlight

22
Highlight

22
Highlight

22
Highlight




22
Highlight


HMC/ Aot + DE»op gt SOW’M/S

00 7

0% + 10F 4 Sopflmas - 60 7
] 4
§6wsz,_1 ¢ — 9p



22
Highlight


"
= /80‘9’0

Totad L-«c'omz., s
/b)

c,.aﬂag 2 oy 1%
- ﬁwm"lo,é



22
Highlight

22
Highlight

22
Highlight

22
Highlight

22
Highlight


‘0M.OM:

C“I/‘vf/vv ?yac,&m OV')/@ :

S R =
T 4 " g¢

. M)-m' éwio«fo,&, VALY g A
Mulbiplying ’ e
pr.?/' X Uer vt oot doue

: to %’d vau.w() ~ WWMM :

X 13
Ix 36
R | /3



22
Highlight

22
Highlight


(b)

et e e - 0 .. o il

1 oWwe:

(1) + x -(lY‘l)-o—L

,(1x7>+x-—§ + -

= Y9+ % - 84 | )
% Aq_ 2 _



22
Highlight

22
Highlight

22
Highlight

22
Highlight


- X - X _



22
Highlight

22
Highlight


